PL —9. ro¢nik

Druha odmocnina

1.Zapis a vypocitaj druhti odmocninu spamiiti?

al 144 b/ 9
49 81
121

g/ 225

2. Skis vypocitat’?

7.4/81 — 3./64 =

1 16  7../4
3. [—— 6. |—+ —=
36 144 /49

5.(V144 + V25) =

L 1L |9, 3T
64 " 1196 V100

3.Vypocitaj a doplii znak <, >, =

a) 22 V2
byv81 -3
c)(-14)* 169
d) (1> V1

Q) [=  (-2)
f)V144  36.V4
g) 1; %

h) V0 52 — 62

i) - 112 V121

4.Comu sa rovna V32400 ?

a) 1 800

¢/ 100
fl-=



b) 16 200
c) 162
d) 180

5.Comu sa rovna v/900 — 2 . /100 ?
a) 70
b) 10
c) 30
d) 20

6.Urci druhé odmocniny ¢isel?

V1,21 = V1,44 = V0,09 = v0,0121 = v0,0049 =



